

# Apartment in Bugibba



**Bugibba, North**



**€356,000**

Reference No: 240221028-2362

 Total Rooms: 7

 Floor Area (m<sup>2</sup>) : 85

 Bathrooms: 2

 Bedrooms: 3

# Apartment - For Sale - Bugibba

Bugibba - Situated on a quiet road yet close to all the amenities one can imagine, comes this furnished apartment in Bugibba. The layout comprises a kitchen, living and dining area, 3 bedrooms (main with en-suite facilities), a main bathroom and a nicely sized front balcony. This property is being offered partially furnished and ready to move into. The block is served with a lift from the ground floor. Freehold.

## Features

- ✓ Kitchen/Dinette
- ✓ Electricity Utility
- ✓ Passenger Lift
- ✓ Balcony
- ✓ En Suite
- ✓ Skirting
- ✓ Double Glazed

## Rooms

- ✓ Kitchen/Dining : 4.8 x 2.3 m (11.04 m2)
- ✓ Living : 4.4 x 2.5 m (11 m2)
- ✓ Hallway : 7.9 x 1.2 m (9.48 m2)
- ✓ Bathroom : 2.5 x 1.8 m (4.5 m2)
- ✓ Double Bedroom : 3.7 x 2.7 m (9.99 m2)
- ✓ Double Bedroom : 5.5 x 3.3 m (18.15 m2)
- ✓ Bathroom Ensuite : 2.6 x 1.1 m (2.86 m2)
- ✓ Double Bedroom : 3.7 x 3.1 m (11.47 m2)
- ✓ Open Space : 5 x 1 m (5 m2)

# Gallery





**Manuel Borg**

RE/MAX Excellence - Piazzetta

M: 79494425

E: manuel@remax.com.mt

T: 21341341

**RE/MAX Excellence - Piazzetta**

114B, Tower Road, Sliema, Malta